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Q.3 The order of the differential equation of all circles whose radius is 4 , is .....
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@5 Which of the following function is not continuous at x =
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f(x) =1+ 2x)1/x , X # 0

= g x=10
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= -1 , x=0
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Q.6 It is observed that 25 % of the cases related to child labour reported to the police station are
solved. If 6 new cases are reported, then the probability that atleast 5 of them will be solved
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Q.8 . 5
The area of the region bounded by the curve y = 2x — x~ and
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061 The statement pattern (p Ag) A[~rV (p Aq)]V (~p A q) is equivalent to ......
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Q.1 A bag contain 6 white and 4 black balls. Two balls are drawn at random. The probability that
1 they are of the same colour s .....
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Q.1 A stone is dropped into a pond. Waves in the form of circles are generated and radius of
3 outermost ripple increases at the rate of 5 cm/sec. Then area increased after 2 seconds is .....

of 1.100 M cm¥/sec

x 2. 40cm?/sec

x 3. 50cm?/sec

x 4.25cm?/sec
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The value of f_33(ax5 + bx® + cx + k)dx ,where a, b, ¢, k are constants, depends
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Q.1 The general solution of the differential equation of all circles having centre at A (-1,2)is ......
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Q.1 If G (3, -5, r) is centroid of triangle ABC where A (7,-8,1),B (p,q, 5)and C (q+1,5p,0)

9 are vertices of a triangle then values of p, q, r are respectively .......
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% Derivative of log,z(logx) with respect to x is
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Qéz In AABC ; with usual notations, if cosA = Si_iB ,
SinC

Ans X" 1. Acute angled triangle

x 2. Equilateral triangle

x 3. Obtuse angled triangle

« 4. Right angled triangle
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042 Fora G.P, if (m + n)™ term is p and (m — n)™ term is g , then m*™ term is

v . g
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Qéz A random variable X has following probability distribution
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Qéz Ifa+b,b+ ¢ and ¢ + a are coterminous edges of a parallelepiped

then its volumeiis........
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If the c.d.f (cumulative distribution function) is given by F(x) = TR
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063 The joint equation of pair of straight lines passing through origin and having slopes
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xe x% 4+ 2xy+y? =
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log(1+ax)—log (1-bx)
X

% I the function Flx) =
F(0) =...
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,x # 0 is continuous at x = 0 then,

v 2




x+ loga + logb
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dx
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—tan~ (=) +c
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The maximum value of z = 9x + 11y subjectto 3x + 2y < 12,2x + 3y < 12,
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%" The number of solutions of sin26 = % in[0, ]is
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01'4 If p, g and 7 are nonzero, noncoplanar vectorsthen[p+g—F p—q g—-T]=...
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v [p qT]
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Q.4 Which of the following equation has no solution ?
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tan = 2019

x. secH

cosB

S

X

p 1
x. SInG = — —
Sl o
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4
03 The minimum value of z = 10x 4+ 25y subjectto 0 <x <3,0<y<3,x+y=5is ...
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Q.4 The equation of the plane passing through the point (-1, 2, 1) and perpendicular to the line

5
An

joining the points (-3,1,2)and (2, 3,4)is .....

v 7.(51+ 2] + 2F)

]
—

x. T.(50 + 2f + 2k) = -1
x: 7.(51—2f + 2k) = -5
xo 7. (51— 2j — 2k) = 1




Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Question Type :

MCQ

: 469665581

: 4696652322
: 4696652321
: 4696652323
: 4696652324
. Answered
01

Qé4 If the lengths of the transverse axis and the latus rectum of a hyperbola are 6 and g
respectively, then the equation of the hyperbola is

4x% —9y? =72
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Q.4 The joint equation of the lines passing through the origin and trisecting the first quadrant is

V3x%2 —4xy ++/3y2 =0
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Q4 |fP(2,2), Q(-2,4) and R(3,4) are the vertices of APQR then the equation of the
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